= A
N = 0l & At & M A
SH: RED
HH: DS S4 N 2L AHASH(LSYDE/HEDS - 2FSIIE)

S HEDS 2 24YH HE X (29l & 2)
SN EH - (EH) - HRAY - BES 0] &k o4 p/E-T Hl D2
D 30,316,868 27,806,861 2,510,007

2 135,000 55,000 80,000
= 1,454,312 1,414,312 40,000
Al 28,727,556 26,337,549 2,390,007
HEDE S48 N 2 HHAH(+ELDE/HEDS 28,789,324 26,576,488 2,212,836
EEESI=)
2 135,000 55,000 80,000
< 1,454,312 1,414,312 40,000
Al 27,200,012 25,107,176 2,002,836
HEDSE 2 2490 WE A= 25,819,227 23,738,870 2,080,357
2 80,000 0 80,000
= 1,454,312 1,414,312 40,000
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2 80,000 0 80,000
< 1,454,312 1,414,312 40,000
Al 5,693,915 5,457,115 236,800
201 Y et 22| 50,400 40,000 10,400
01 A= 22l 50,400 40,000 10,400
O AUHA S2NSHANAY 22238 2
O 80,0002 * 1804 14,400 0 14,400
O Yur=g| 36,000 40,000 A4,000
o ANUHA A SHS CHOHE X
PCEETY 33 36,000,002 36,000 40,000 A4,000
207 & R IH e 14,400 16,000 A1,600
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O A2 HENRS S AL A [0l
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405 X4+ 3 S bl 160,000 0 160,000
2 80,000 0 80,000
< 40,000 0 40,000
Al 40,000 0 40,000
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2M: DED
Yo ZDE |4 N L HHLH(+SLNE/WERES - SRSIIE)
S NSoUHTAIL S5 L 22| (e &)
SAH-AH -2 (SA) - HREAY - BES 01l Ao I AR Husz
04 JI2RI2ERNEES 10,037 0 10,037
O CCTV SE2HAH HAJ R [HEFE
S0 A olR] 10,037 0 10,037
o J|=3 44 6402 * 18 * 52 x 34F 7,589 0 7,589
o =Xtag 44 6402 * 19 = 34F 1,518 0 1,518
o MEBEEZ 930,000 * 14! 930 0 930
201 LBt HH| 1,123,903 1,114,731 9,172
01 AR 22| | 29,433 18,873 10,560
O CCTV S EZHMUEH A28 8 222 7
[etets 2200 A OlH] 10,560 0 10,560
220,0008 » 6 * 8
02 222 9H] 1,094,470 1,095,858 A 1,388
O A& ZH X H 566,636 568,024 21,388
o NsEWESMA(ITS) Sl [oarE
] A 542,782,000 542,782 547,170 4,388
o CCTV EStZMHAE AlLEBSAH [EEE
S2U0AM OlF] 3,000,000 * 1Al 3,000 0 3,000
401 Al 2 HIZ 20 H| 1,758,500 1,641,500 117,000
2 55,000 55,000 0
Al 1,703,500 1,586,500 117,000
01 A& HI 1,746,250 1,629,250 117,000
O AIXN WENMS HAUEN HE wSHAH
e ALY 102,000,0002 * 14l 102,000 0 102,000
O g AX 02 23 DEMA HAAY
15,000,000 * 14! 15,000 0 15,000
HAE2AZH (RED)(JIEH/DIIE) 108,044 110,873 A2,829
ol 9y 1,741 3,870 7,871
ol 29| 11,741 3,870 7,871
101 @124l 11,741 3,870 7,871
03 RIAHAL22IE S 11,741 3,870 7,871
O g22244 5,507 1,759 3,748
o <A (NSXE)
124,920 * 29 » 152 3,748 0 3,748
O AZ2te 224¢ 6,234 2,111 4,123
o <HAZ(NSXNE)
15,6156% » 29 % 12A12t « 1€ 4,123 0 4,123
=23 96,303 107,003 A 10,700
Il =&l 96,303 107,003 A 10,700
201 LBt A H| 55,307 61,452 A6, 145
01 A2 22l bl 55,307 61,452 AB,145
O Y29 55,307 61,452 AB,145
o UBI+ZH| SHAH A AR 2]
23X 25,133,000 25,133 27,925 A2,792




2AMd: DS
M HHE2HAH (LS H)(IIEH/IIE)
& 123l (chel & 9l)
£ Y -HA(S) - NRMY - BES Ofl & oH JEH Hn&s2Z
o SEH SHAA[OAEZ2]
28 24,774,000 24,774 27,527 A2,753
o 2HgH&EY] 2 & 5,400,000 5,400 6,000 A 600
202 4l 37,000 41,111 A4111
01 = LH YI 37,000 41,111 24111
O U0l SUA &[0 &E2]
2 & 37,000,000 37,000 41,111 24111
203 YR =] 3,996 4,440 A444
04 NI FAH 3,996 4,440 A444
O WSHFH(HH 34 [0larE 2]
238 3,996,000 3,996 4,440 A444
MPES(WEW)(=sLDS/HELS - 2FSIIEH 1,419,500 1,119,500 300,000
HEHHK = 1,419,500 1,119,500 300,000
LHEHeH X = 1,419,500 1,119,500 300,000
701 JIEtSI HEEES 1,419,500 1,119,500 300,000
01 JIEtSI HEES 1,419,500 1,119,500 300,000
O BE=XE A2 2208 43 X
300,000,000& * 14 300,000 0 300,000






